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Computers 0 1

what can we possibly solve
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How do computers rep numbers

Easing 91,2 9

I bind at bit binarydigit

G
numbers

To To To to it
10000 1000 100 10 1

expansion 2 102 3 10 4 100

2 100 3 10 4 I



numbers binary

I T I I III
1610 To 410 20 110

102 12
100002 10002 1002

number in binary
1 I 0 I
532221 20

8 Y 2 1

expansion 1.8 t 1 4 0.2 1 I 13

11101213,2



G D compromise Base 16
hexadecimal

Hex digits 011,2 9 A B C D E F

8A416 10
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Bose 16 decimal

Decimal another base

to z

16
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or is part of the answer
coefficients

take q and repeat the process
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1234,0 no

1234 10 123 4
8 E r

123 10 12 3
8 To 7

reminders
12 10 I 2
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123410
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IBinary B converted to base 2
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what is the biggest valve we can store in one bit
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125 1.24 1.23 1 2 1

32 16 8 2 1583 I
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Binaymultiplication is
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G I I

to Y
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ne
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1110

510

I
5 11 5510

110 11 1

32 16 t 4
t 2 I 5550 I
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